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QUESTION 1

Screen 1GG calls screen 200. Perform list processing with. Where does processing resume list Screen 200 makes a
request to the suppress dialog option after returning from the list? (More than one answer is correct) 

A. To the next screen defined in the screen attributes of screen 100 

B. There is no return if the stement LEAVE TO LISTPROCESSING is used 

C. To the beginning of the transaction 

D. If LEAVE TO LIST-PROCESSING AND RETURN TO SCREEN xxx is used, return will go to screen xxx 

E. To the next screen defined in the screen attributes of screen 200 

Correct Answer: AD 

 

QUESTION 2

What would be a reason for choosing to use asynchronous update in your ABAP program? (More than one answer is
correct) 

A. To improve user response time 

B. your updates need to run together as a logical unit 

C. Immediate updates to the Dabase are required 

D. your program need the updates completed in order to continue processing 

Correct Answer: AB 

 

QUESTION 3

What would trigger a rollback? 

A. An RFC Function Call that terminates normally 

B. A program that issues a MESSAGE type \\'A\\'. 

C. A user cancels the transaction 

D. A program that issues a Commit Work stement 

Correct Answer: B 

 

QUESTION 4

Which is not considered a way to ilor on R/3 system? 
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A. Modification 

B. Enhancement 

C. Interfacing 

D. Personalization 

E. Customizing 

Correct Answer: C 

 

QUESTION 5

You always want to check the user authorization for data entered in an input field of a selection screen. 

Where do you do this? 

A. In the event block AT SELECTION-SCREEN 

B. In the event block AT SELECTION-SCREEN OUTPUT 

C. In the event block INITIALIZATION 

D. In the event block AT SELECTION-SCREEN on VALUE-REQUEST 

Correct Answer: A 
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